test no 1 pour un rendu de couleurs — 54 couleurs standard pour D65; écran standggRGB); rgb—>rgb*d

01: ROOY_100_109

10: GOOB_100_109

19: ROOY_100_059

28: ROOY_075_059

37: ROOY_050_059

46: NW_00Q,

02: R25Y_100_109

11: G25B_100_109

20: RS0Y_100_059

29: R50Y_075_059

38: R50Y_050_059

47: NW_OI%

03: R50Y_100_109

12: G50B_100_109

21: YO0G_100_059

30: YOOG_075_059

39: YO0G_050_059

48: NW_025

04: R75Y_100 108

13: G75B_100_109

22: Y50G_100_059

31: Y50G_075_05Q

40: Y50G_050_050

49: Nw_03§,

05: YO0G_100 10&)

14: BOOM_100_109

23: GOOB_100_059

32: GOOB_075_059

41: GOOB_050_059

50: NW_050,

06: Y25G_100 108

15: BZSR_lOO_lO(?

24: G50B_100_050

33: G50B_075_050

42: G50B_050_050

51: NW_063,

7: Y50G_100 10&)

: BSOR_100_10p

: BOOR_100_050

: BOOR_075_050

: BOOR_050_050

8: Y75G_100 10(9

: B75R_100_10p

: BSOR_100_050

: BSOR_075_050

: BSOR_050_050

series :
maximum
m

09=10: GOOB_100_1Qp

maximum
m

18=01: ROOY_lOO_lQ,P

blancheur
W

27=19: ROOY_100_05p

central
Z

36=28: ROOY_075_0%0

noirceur
n

45=37: ROOY_OSO_O%)

gris
g

54: NW_10Q,




